1. Serial number of all items.
[image: image1.jpg]



2. Tear up the film on the acrylic board.

[image: image2.jpg]



3. Fix the LCD screen board on the board 1 with M2 with screws. 
[image: image3.jpg]



4. Fixed display screen board.
[image: image4.jpg]


5. Put red keys on board 1. 
[image: image5.jpg]C —

®Ian

Wiy








6. Cover the board2/3/4, put the screen and red keys between board 1 and board 4.
[image: image6.jpg]



7. Fix the board1/2/3/4 with M3 long screws. Prepare to assemble board 5/6/7/8 and oscilloscope main board. 
[image: image7.jpg]



8. Insert the main board and screen and line-up the red keys and keys on the main board, assemble board 5/6/7/8 and main board with M3 screws. 
[image: image8.jpg]-
.

SPiE IS0





[image: image9.jpg].

‘/*tkf SR







9. Install board 9 at last, and use M3 screws to fix.

[image: image10.jpg]


[image: image11.jpg]



